pr bin ( GeV/c) y™ bin dp dy [nb/( GeV/c )] stat. corr. uncorr.
T< pr< 8 1.5< y <20 46104430 250 330 100
T<pr< 8 20< y* <25 3650 £ 260 140 210 50
T< pr< 8 25< y* <3.0 30104230 130 180 40
T< pr< 8 30< y* <35 23274203 123 157 34
T<pr< 8 35< y* <4.0 14321183 120 135 28
8 pr< 9 1.5< y* <2.0 2590 £ 260 180 170 70
8< pr< 9 20< y* <25 2300 £180 110 130 40
8<pr< 9 25< y* <3.0 1859 £152 99 110 31
8 pr< 9 3.0< y* <35 1273 £126 89 85 24
8< pr< 9 35< y* <40 1002 £139 92 100 26
9< pr <10 1.5< y* <2.0 17704190 140 120 60
9< pr <10 20< y* <25 1529 £127 87 87 30
9< pr <10 25< y* <3.0 11424107 75 72 23
9< pr <10 3.0< y* <35 864+ 95 69 61 21
9< pr <10 35< y* <40 544+ 90 67 57 17
10< pr <11 1.5< y* <20 1070+130 100 60 40
10< pr <11 2.0< y* <25 917+ 88 66 52 22
10< pr <11 25< y* <3.0 804+ 83 64 47 21
10< pr <11 3.0< y* <35 477£ 63 51 35 14
10< pr <11 35< y* <4.0 397+ 73 51 50 15
11< pr <12 1.5< y* <2.0 800 £ 100 80 50 40
11< pr <12 20< y* <25 678+ T2 57 38 21
11< pr <12 25< y* <3.0 446+ 60 50 27 15
11< pr <12 30< y" <35 386+ 57 47 29 14
11< pr <12 35< y* <4.0 162+ 41 37 15 8
12< pr <13 1.5< y* <20 526 £ 80 65 33 32
12< pr <13 20< y* <25 474+ 57 45 29 16
12< pr <13 25< y* <3.0 370+ 48 39 23 15
12< pr <13 3.0< y* <3.5 231+ 40 34 18 11
12< pr <13 35< y* <40 153+ 37 29 21 7
1B< pr<i4 1.5< y* <20 419+ 67 56 24 28
1B3< pr <14 20< y* <25 387+ 48 39 22 16
B<pr<14 25< y* <3.0 224+ 35 31 13 11
13< pr <14 3.0< y* <3.5 151+ 27 23 11 6
B<pr <14 3.5< y* <40 100+ 27 24 9 7




